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QUESTION 1

In a Manufacturing Cloud post production support environment, a user wants to update some of the
operations in the work orders by using the Midpoint Scheduling feature. However, the user is unable to
update any of the orders.

Identify two reasons.

A. The work order operations do not have operations start or completion date.

B. The scheduled resources are not part of the organization selected by the user.

C. None of the operations include scheduled resources.

D. The operations are missing sequence.

Correct Answer: CD

QUESTION 2

While creating an item in Product Information Management (PIM), the following two item templates are selected in
sequence and applied.

1.

Template: Finished Goods (WIP = No, Customer Ordered = Yes)
2.

Template: Sub-assembly (WIP = Yes, Customer Ordered = No)
Identify the Item Attribute values in the application.

A. WIP = Yes, Customer Ordered = Yes

B. WIP = Yes, Customer Ordered = No

C. WIP = No, Customer Ordered = Yes

D. WIP = No, Customer Ordered = No

Correct Answer: C

QUESTION 3

In what three ways can you set the overcompletion tolerance for a subcomponent yield, so the job order can report the
excess production completion?
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A. Overcompletion Tolerance Type = Amount, value > 0

B. Overcompletion Tolerance Type = Amount, value =0

C. Overcompletion Tolerance Type = Percentage, value = 100
D. Overcompletion Tolerance Type = Percentage, value >0
E. Overcompletion Tolerance Type = Percentage, value = 0

Correct Answer: BDE

QUESTION 4

Identify two conditions that should be met at the same time for a Standard Operation to be called an Optional
Operation.

A. There are no components attached to it.

B. The Automatically Transact check box is deselected.
C. The Automatically Transact check box is selected.
D. The Count Point check is selected.

E. The Count Point check box is deselected.

Correct Answer: BE

QUESTION 5

Identify three entities that must be set up in Oracle Manufacturing Cloud to create a Work Definition for an item that will
be manufactured in-house.

A. Operation Items

B. Resources

C. Production Line

D. Operations

E. Manufacturing Lead Time

Correct Answer: ABD
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